
motobilt.com | 334-219-2333

MB2188 - Assembly Instructions Powertank Bracket

REV: 

1

MB2188 - POWERTANK HD REINFORCEMENT BRACKET

COMPATIBLE WITH MB1212 AND MB1213

ASSEMBLY INSTRUCTIONS



MB2188-01

Qty 1

5/16"-18 x 1" Hex Bolt

Qty 8

5/16" Plain Washer

Qty 16

5/16"-18 Nylon Insert Hex Locknut

Qty 8

motobilt.com | 334-219-2333

MB2188 - Shipping Powertank Bracket

REV: 

2

CONTENTS



motobilt.com | 334-219-2333

MB2188 - Assembly Instructions Powertank Bracket

REV: 

3

5/16"-18 x 1" Hex Bolt

5/16" Plain Washer

5/16" Plain Washer

5/16"-18 Nylon Insert Hex Locknut


